
 

Questions? 866-466-4762 | sales@promotobillet.com 

Instructions: PMB-01-5204 
 
NOTE: We recommend using a 
removable thread-locking compound on 
all bolts. 
1. Remove the stock grab handles. 
2. Install all four Mounting Brackets onto 

the bike, using the stock grab handle 
mounting locations and the M8x20 
socket head bolt (Picture A). The right 
bracket may require loosening and/or 
removing the muffler mounting bolts 
(Picture B). Keep all four Mounting Brackets loose on the bike. 
NOTE: May need to trim plastic to allow clearance for the mounting brackets. 

3. Install the left and right Rack Arms using the four M8x20 flat head bolts. Keep all four bolts 
loose. 

4. Install the Rack Top to the Rack Arms using the four M6x16 flat head bolts.  
5. Tighten the four Rack Top bolts to the Rack Arms. 
6. Tighten the four Mounting Bracket bolts and the four Rack Arm bolts. Check that all four 

brackets are properly seated on the sub frame. 
7. Check that all four Mounting Brackets are correctly seated inside the pockets on the 

backsides of the Rack Arms. 
8. Reattach the muffler if it was unbolted in step two. 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

Parts List: 
1- Rack Top 
2- Rack Arms 
4- Mounting Brackets 
4- M8x20 FH 
4- M6x16 FH 
4- M8x20 SH 

CAUTION: As with all racks on dirt bikes, 
they should not have excess amounts of 
weight put on them. Excess weight can 
damage the rear sub frame of the 

motorcycle 

See our entire product line at promotobillet.com 
 

 

Picture A Picture B 


